***Q-22-739 Exterior Doors and Hardware Awarded To: Houston Starr Company***				Allegany Door & Hardware, Inc. Hagerstown, MD		Houston Starr Company Altoona, PA		Owens Security Solutions, LLC New Orleans, LA		Premier Glazing Concepts, LLC Harwood, MD	
Item No.	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	HMD 3068 – 3'0" x 6'8" x 1 ¾" – Left Hand	Each	11	\$1,239.00	\$13,629.00	\$810.00	\$8,910.00	\$2,075.01	\$22,825.11	\$1,523.75	\$16,761.25
2	HMD 3068 – 3'0" x 6'8" x 1 3/4" – Right Hand	Each	20	\$1,239.00	\$24,780.00 *	\$810.00	\$16,200.00	\$2,075.01	\$41,500.20	\$1,523.75	\$30,475.00
3	HMD 4068 – 4'0" x 6'8" x 1 3/4" – Right Hand	Each	1	\$1,469.00	\$1,469.00	\$945.00	\$945.00	\$2,095.01	\$2,095.01	\$1,940.94	\$1,940.94
	BASE BID TOTAL LUMP SUM (Items No. 1 through 3 above)				78.00 *	\$26,055.00		\$66,420.32		\$49,177.19	

## ADD ALTERNATE BID

Item No.	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
1	HMD 3068 – 3'0" x 6'8" x 1 ¾" – Left Hand	Each	3	\$1,239.00	\$3,717.00	\$810.00	\$2,430.00	\$1,174.44 *	\$3,523.32 *	\$1,523.75	\$4,571.25	
2	HMD 3068 – 3'0" x 6'8" x 1 ¾" – Right Hand	Each	2	\$1,239.00	\$2,478.00	\$810.00	\$1,620.00	\$1,174.44 *	\$2,348.88 *	\$1,523.75	\$3,047.50	
3	HMD 3068 – 3'0" x 6'8" x 1 ¾" – Left Hand	Each	4	\$1,239.00	\$4,956.00	\$810.00	\$3,240.00	\$2,004.62	\$8,018.48	\$1,523.75	\$6,095.00	
4	HMD 3068 – 3'0" x 6'8" x 1 ¾" – Right Hand	Each	1	\$1,239.00	\$1,239.00	\$810.00	\$810.00	\$2,004.62	\$2,004.62	\$1,523.75	\$1,523.75	
5	HMD 3668 – 3'6" x 6'8" x 1 ¾" – Left Hand	Each	1	\$1,394.00	\$1,394.00	\$920.00	\$920.00	\$2,014.62	\$2,014.62 *	\$1,940.94	\$1,940.94	
6	HMD 3068 – 3'0" x 6'8" x 1 ¾" – Left Hand	Each	1	\$1,239.00	\$1,239.00	\$810.00	\$810.00	\$2,004.62	\$2,004.62	\$1,523.75	\$1,523.75	
	ALTERNATES TOTAL LUMP SUM (Alternate Items No. 1 through 6 above)				\$15,023.00		\$9,830.00		\$19,914.54 *		\$18,702.19	

<sup>\*</sup>Corrected calculations based on unit pricing

## Remarks/Exceptions

Allegany Door & Hardware, Inc. - Doors are flush, no glass, jamb depths quoted are 5 3/4". We have added 15 days for Manufactureres holiday shutdowns.

Houston Starr Company - Tax not included. Cylindrical deadbolts by others. One delivery to jobsite included. Exclusions are as follows: Glass and Glazing, aluminum doors and frames, rolling doors, overhead doors, upward acting doors, drilling and tapping for surface applied hardware, finish painting, errection and installation, field measurements, and retention.

Owens Security Solutions, LLC - We propose to establish a contract to *furnish only* thirty-two (32) exterior hollow metal doors, frames, and associated hardware (Option A-E) as outlined in specifications of RFQ Q-22-739. Additionally, we have included in our bid proposal the alternate items for *furnish only* twelve (12) hollow metal doors, frames and associated hardware (Option A-G) as outlined in specifications of RFQ Q-22-739.

Premier Glazing Concepts, LLC - Freight shipping and lift gate delivery included in cost.

	***Q-22-739 Exterior Doors and Hardware	Allegany Door & Hardware, Inc.		Houston Starr Company		Owens Security Solutions, LLC New		Premier Glazing Concepts, LLC			
	Awarded To: Houston Starr Company***	Hagerstown, MD		Altoona, PA		Orleans, LA		Harwood, MD			
Item No.	Description	Unit of Measure	Qty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price

